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Figure 1. Residential building with six indoor fixtures

Solution: Step 1 of 2 — Find Demand Load for the Building Supply

The Water Demand Calculator [WDC] in Figure 2 is used to determine the demand load expected from
indoor water use. The WDC has white-shaded cells and blue-shaded cells. The values in the blue cells
are derived from a national survey? of indoor water use at homes with efficient fixtures and cannot be
changed.

The white-shaded cells accept input from the designer. For instance, fixture counts from the given
information are entered in Column [B]; the corresponding recommended fixture flow rates are already
provided in Column [D]. The flow rates in Column [D] may be reduced only if the manufacturer specifies
a lower flow rate for the fixture. Column [E] establishes the upper limits for the flow rates entered into
Column [D]. Clicking the Run Water Demand Calculator button gives 8.5 gpm as the estimated indoor
water demand for the whole building. This result appears in the green box of the WDC in Figure 2.

2 Buchberger, S., Omaghomi, T., Wolfe, T., Hewitt, J., and Cole, D., Peak Water Demand Study. 2016.
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Figure 3. Chart A 105.1(1) for finding pipe size.

Example 2: Indoor and Outdoor Water Use — Find the pipe size for the building supply [Figure 1, Pipe
Section 4] if the building in Example 1 adds two outdoor fixtures (silcocks, each with a fixture flow of 2.0
gpm).

Solution: Step 1 of 2 — Find Demand Load for the Building Supply

The WDC has been developed exclusively for peak indoor water use which can be viewed as a high
frequency short duration process. Because fixtures for outdoor water use may operate continuously for
very long periods, they are not included in the WDC. To account for water use from one or more outdoor
fixtures, add the demand of the single outdoor fixture with the highest flowrate to the calculated demand
for indoor water use. With two silcocks, the demand of only one silcock is included. Hence, in this
example, the total demand for the whole house is 8.5 gpm + 2.0 gpm = 10.5 gpm.

Solution: Step 2 of 2 — Determine the Pipe Size of the Building Supply

Table 1 shows that at 10.5 gpm the building supply shall be %-inch in diameter.

Example 3: Indoor, Outdoor and Other Fixture Water Use — Find the pipe size for the water supply
[Figure 1, Pipe Section 4] if the building in Example 2 adds a kitchen pot filler and a dog bath each with
a faucet flow rate of 5.5 gpm.

Solution: Step 1 of 2 — Find Demand Load for the Building Supply





